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virtual void show(){}
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1 void swap(int a, int b){
2 int tmp = a;

3 a = b;

4 b = tmp;

5 }

G void main () {

7 int m=1, n = 3;

8 swap (m, nj;

9 printf ("%d %d4d", m, n);
10 }
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pass by address : $-fcen (@ R E Ffcenizhl o A S BN B B h REE BB > LR R %

SN IVECE S

1 void swap(int *a, int *b){
2 int tmp = *a;

3 *a = *bh;

4 *h = tmp;

5 }

& vold main() {

7 int m=1, n = 3;

g swap (&m, &nj;

2] printf ("%d %d4", m, n);
10 }
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1 struct node {

2 int id;

3 float score;

4 struct node *next;

5 }:

G struct node *head = NULL, *ptr,
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current = head -> next;

while (current -» next != NULL)
prev = current;
current = current -> next;

}
prev -> next =
free(current);
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=1 o LN ok D R

S|+
w
R

N

>
w
R

*current,

1 ptr =

2 current = head -> next;

3

4 while (current -> next !'= NULL)
5 current = current -> next
) }

T current -> next = ptr;

*prev;

(struct node*)malloc(sizeof (struct node));

{

{

o F A ?{%‘« A =k http://www.public.com.tw




